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If the conjugate of the complex number Z is

Z=-1+31i,

then the trigonometric form of the complex

number Z is .........
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If A is the coefficients matrix of the system of
the linear equations:
3x+y+z=5,x+y+z=0,
4dx+2y+2z=T7,

then the ranke of matrix A equals .........
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If the two planes co=(p- YoV ) A0k sl BT 13
T.(1,2,-m)=5andmx+6y-9z=1 RS A R A R
are parallel, thenm=...... | .. = 0k
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If 1, » and w? are the cubic roots of unity

then(%—a+a(o7)4= ......... ,

where a # 0
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If "2p, = (n’=4n) (n2-1), O=To) (e = 3TV
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If the vectors A =m i +3 3\ -2 ﬁ, i oled C"M\:“
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If ABCD is a parallelogram where VS {MT Silge $> o f O 13|
A2,3,-1),B(0,5,3),C(-2,-3,1), (Yoo )oe(\=crev) P
then the vector equation of the straight line (Ver—e¥—) >
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If 0 is the measure of the angle between
the two planes:

T.(2,-2,4)=5, 2x+y—-22z=3,
thensin O =.........
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If the opposite figure represents the two
complex numbers Z; , Z, on Argand’s
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If we have a polygon of n-sides and the
number of its diagonals = 740,

then nC3 = ok B
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IfZ=4 <sin%—icos%> ,

where i* =— 1, then one of the two square

roots of the number Z is .........
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If the seventh term in the expansion of

m _ x2.3n , :
(F A E) according to the ascending

powers of x is the term free of x
(where m € RT),

then the value of this term=.........
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If M is the mid point of BC where
A(-2,0,3),B(1,0,6),C(5,4,2),
then the equation of the sphere whose centre
M and passes through the point A is .........
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If T . is the middle term in the expansion of
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